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Answer Key: page 3

Matrices And Determinants Extra Practice

Perform the matrix operations.

0 1 -5 10 3 11
1. [ + ]
4 1 6 -2 8 3
5 1 10 6 7 3
2 [—1 0 0 ] - [O 14 6]
2 3 4 1 -1 2
4 6 -1
3. 3[10 -5 2 ]
2 11 1

Al 31-F 5D

Write the product as a single matrix.

s[4 oll5 2

SN =
e

Evaluate the determinant of the matrix.

> 7l
s |2, 1
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10.

11.

12

13.

14.

15.

16.

1

~N

18.

19.

2 1 5
-1 6 3
2 -4 2
2 -3 4
0 1 =2
1 2 -3

. Use a determinant to find the area of a triangle with coordinates (-3,4) (6,3) and (2,-1)

Find the inverse of the matrix.

~
w
[E—

Solve the matrix equation.
5 Z16=05]
G SN EE]
Use an inverse matrix to solve the linear system.

{x—3y=10

2x+ 5y =-2

Use Cramer’s rule to solve the linear system.

{2x—3y= —-17
3x+4y= 0
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x+2y+z=-2

20. 2x—y—3z=1
—3x+y—2z=-7
ANSWER KEY

Matrices And Determinants Extra Practice

Perform the matrix operations.

0
1.
4

1 -5 10
+

1 6 -2

1 10 6

0 0 ] - [O

3 4 1

4 6 -1
3. 3[10 -5 2]

11 1

g] B [i 130])

3 11] 10 4 ¢

e s 2 9 9

7 3 1 -6 7
14 6] [—1 ~14 —6]
~1 2 1 4 2

12 18 -3
30 =15 6

6 33 3
-2 12]
2 0
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Write the product as a single matrix.

1 011-1 1 -1 1
> [4 9 [3 2 23 22]
6 6 0][-6 1 4 & e
° > 21 4 -37 3]
1 -1 5 3 -8 0
[ 1
0
7. [10 2 1 5] > [23]
| 3
Evaluate the determinant of the matrix.
6 -3
8. |, 1| 12
9 1
°© |5 , 21
2 1 5
10. -1 6 3 16
2 =4 2
2 -3 4
11. |0 1 -2 4
1 2 =3

12. Use a determinant to find the area of a triangle with coordinates (-3,4) (6,3) and (2,-1)
20

Find the inverse of the matrix.

5 3 s
1. ;3] 51 o2
s [ 2 Ry

©2014 TabletClass.com, LLC



TabletClass.com
Matrices and Determinants

Page 5

16.

1

~N

18.

19.

20.

Solve the matrix equation.

4
11]
3

5 21bI=[7]

[ I 5]
Use an inverse matrix to solve the linear system.

x—3y =10
(41'2)
2x + 5y = -2

Use Cramer’s rule to solve the linear system.

2x—3y =-17
3x+4y= 0 (-4,3)
x+2y+z=-2
2x—y—3z=1
—3x+y—2z=-7

(1,-2,1)
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